
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

3.81 × ________ = 381 10.508 × ________ = 105.08

8.792 × ________ = 879.2 5.488 × ________ = 5488

3.218 × ________ = 3218 9.589 × ________ = 95.89

1.593 × ________ = 1593 10.025 × ________ = 100.25

8.615 × ________ = 8615 9.411 × ________ = 941.1

7.084 × ________ = 708.4 9.493 × ________ = 9493

10.508 × ________ = 105.08 8.172 × ________ = 817.2

10.124 × ________ = 1012.4 3.532 × ________ = 3532

5.56 × ________ = 5560 10.94 × ________ = 1094

10.504 × ________ = 105.04 3.325 × ________ = 332.5
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